
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 215

42 km = 420000 dm

65 m = 65000 mm

37 km = 370000 dm

94 km = 9400000 cm

14 km = 14000000 mm

76 hm = 7600000 mm

58 dam = 58000 cm

80 hm = 8000000 mm

83 hm = 8300000 mm

51 m = 5100 cm

66000000 cm = 660 km

8800000 cm = 880 hm

9400000 cm = 940 hm

1300000 mm = 13 hm

3600000 dm = 3600 hm

60000000 m = 60000 km

900000 mm = 90 dam

65000000 cm = 650 km

96000000 m = 96000 km

75000000 m = 75000 km

60 m  et 7 dm = 607 dm

63 dam  et 78 cm = 63078 cm

41 hm  et 57 mm = 4100057 mm

90 hm  et 93 dm = 90093 dm

27 hm  et 82 cm = 270082 cm

33 hm  et 39 cm = 330039 cm

26 dam  et 83 cm = 26083 cm

63 m  et 64 dm = 694 dm

30 hm  et 68 dm = 30068 dm

44 hm  et 77 cm = 440077 cm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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